Curved Rose Design Bench

Item codes: H252/ 607530 GAINSBOROUGH

Instructions for Use v003: 20/12/23 Garden & Wildlife
Please read and retain these instructions for future reference

ENGLISH INSTRUCTIONS

Dimensions
100 x54 x80cm

e CLASSIC ENGLISH ROSE DESIGN GARDEN BENCH

e CURVED DESIGN IDEAL FOR 2 PEOPLE

e CHARMING ADDITION TO YOUR GARDEN PLACED IN YOUR
FAVOURITE SPOT IN YOUR GARDEN WHERE YOU CAN RELAX AND
WATCH THE WORLD GO BY

* MADE OF A MIX OF CAST IRON AND CAST ALUMINIUM THAT IS
WEATHER AND RUST RESISTANT. HOWEVER, WE RECOMMMED
TO ALWAYS COVER IN ADVERSE AND FREEZING WEATHER TO
KEEP THIS IN GOOD CONDITION.

*  WEIGHT LIMIT 120kg

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS FOR USE:

Unpack the components carefully. Please check all parts have been removed from the packaging.

Please read the following instructions carefully prior to assembly. To prevent the paint from being scratched we
would suggest assembling your Garden Bench on soft ground. Please note the roughness you might find on the
surface of your Garden Bench is the natural finish of cast metal material.

7]
¢c
8 e
J
Tools Required: Hex. Key Wrench(Provided) ;
PART LIST
A  Seat Plate 1PC H M8 Nut 8PCS
B Chair Leg 4PCS I M6 NutP 9PCS
C  Backrest 1PC K  Plastic Cap 2PCS
DL Left Armrest 1PC L @8 Washer 8PCS
DR Right Armrest 1PC M &6 Washer 9PCS
E M8 X30Bolt 8PCS N @8 spring washer 8PCS
P @6 spring washer 9PCS

G M6 X35Bolt 9PCS



ASSEMBLY STEPS

NOTE: Leave bolts half-tightened on the bench during assembly
until unit is assembled, then finish tightening bolts .

STEP 1:Screw 8 M8X30bolts (E) into seat plate (A).

STEP 2:Attach one of chair legs (B) to seat plate (A) with 2 ®8 washers (L),
2 ®8 spring washers (N) and 2 M8 nuts (H). Repeat this procedure
for assembling the rest of 3 chair legs(B).

STEP 3:Attach backrest (C) to seat plate (A) with 3 M6X35bolts(G),

36 spring washer (P), 3 ®6 washers (M) and 3 M6 Nuts (1).

STEP 4:Attach left armrest (DL) to seat plate (A) with 2 M6X35bolts (G),
26 spring washer (P), 2 ©6 washers (M) and 2 M6 nuts (1),
then assemble left armrest (DL) to backrest (C) with M6X35bolt (G).

@6 spring washer (P), ®6 washer (M) and M6 lock nut (1).
Repeat this procedure for the right armrest (DR). Tighten all nuts. Then
cover M6 locknuts (|) with plastic caps (K).

Garden Furniture Maintenance Recommendations

1. Always make sure all the bolts and screws are secured and tight this will stop putting stress on the item.
Do this regularly over the year.

2. Over the winter months wash down metal furniture with warm soapy water and use non — abrasive cloth
or sponge before rinsing and drying.

3. Itisrecommended to cover your garden furniture over the winter months.
4. If you have room bring the garden furniture inside over the winter months.
5. Always try and place your garden furniture on level surfaces.

6. You can carry out maintenance on your garden furniture any time.

7. Check your furniture after windy spell of weather.

DISPOSAL

e Coopers of Stortford use recyclable or recycled packaging where possible.
e Please dispose of all packaging, paper, cartons, packaging in accordance with your local {:Ef

recycling regulations. %@

e Atthe end of the product’s lifespan please check with your local council authorised household waste
recycling centre for disposal.



GERMAN INSTRUCTIONS

Abmessungen
100 x54 x80cm

*  KLASSISCHE ENGLISCHE GARTENBANK IM ROSENDESIGN

¢ GESCHWUNGENES DESIGN, IDEAL FUR 2 PERSONEN

*  EINE CHARMANTE ERGANZUNG FUR IHREN GARTEN, DIE SIE AN
IHREM LIEBLINGSPLATZ IM GARTEN AUFSTELLEN KONNEN, WO
SIE SICH ENTSPANNEN UND DIE WELT BEOBACHTEN KONNEN

*  HERGESTELLT AUS EINER MISCHUNG AUS GUSSEISEN UND
ALUMINIUMGUSS, DIE WITTERUNGS- UND ROSTBESTANDIG IST.
ES WIRD JEDOCH EMPFOHLEN, DIE BANK BEI SCHLECHTEM
WETTER UND FROST IMMER ABZUDECKEN, UM IHN IN GUTEM
ZUSTAND ZU HALTEN.

*  GEWICHTSGRENZE 120kg

AUFBAUANLEITUNG:

Packen Sie die Komponenten sorgfiltig aus. Uberpriifen Sie bitte, ob alle Teile aus der Verpackung entfernt
wurden.

Bitte lesen Sie die folgenden Anweisungen vor der Montage sorgfaltig durch. Um Kratzer im Lack zu
vermeiden, empfehlen wir lhnen, die Gartenbank auf einem weichen Untergrund
zusammenzubauen. Bitte beachten Sie, dass die Rauheit, die Sie auf der Oberflache Ihrer Gartenbank
finden kdnnen, die natiirliche Oberflache des Metallgusses ist.

B y,,fﬂ?/_

Outils nécessaires : Clé hexagonale. (fournie) | |

TEILELISTE

A Sitzplatte 1PC H M8 Mutter 8PCS
B Stuhlbein APCS I M6 Mutter P 9PCS
C Riickenlehne 1PC K Kunststoffkappe 2PCS
DL Linke Armlehne 1PC L @8 Unterlegscheibe  8PCS
DR Rechte Armlehne 1PC M @6 Unterlegscheibe  9PCS
E M8 X 30 Schraube 8PCS N @8 Federring 8PCS

G M6 X 35 Schraube 6PCS P @6 Federring 9PCS



Montageschritte

HINWEIS: Lassen Sie die Schrauben wahrend des Zusammenbaus auf der
STEP 1 Werkbank halb angezogen, bis das Gerat zusammengebaut ist, und ziehen
Sie die Schrauben dann fertig an.

Schritt 1: Schrauben Sie 8 M8X30-Schrauben (E) in die Sitzplatte (A).

Schritt 2: Befestigen Sie eines der Stuhlbeine (B) mit 2 8 Unterlegscheiben
(L) an der Sitzplatte (A). 2 8er Federscheiben (N) und 2 M8-Muttern (H).
Wiederholen Sie diesen Vorgang fiir den Zusammenbau der restlichen 3
Stuhlbeine (B).

Schritt 3: Befestigen Sie die Riickenlehne (C) an der Sitzplatte (A) mit
3M6X35 Schrauben (G), 3 6 Federscheiben (P), 3 6 Unterlegscheiben (M)
und 3 M6 Muttern (1).

Schritt 4: Befestigen Sie die linke Armlehne (DL) an der Sitzplatte (A) mit 2
Schrauben M6X35 (G), 2 6er Federringen (P), 2 6er Unterlegscheiben (M)
und M6er Gegenmutter (1).

Wiederholen Sie diesen Vorgang fiir die rechte Armlehne (DR). Ziehen Sie
alle Muttern fest. Decken Sie dann die M6-Sicherungsmuttern (1) mit
Kunststoffkappen (K) ab.

Empfehlungen fiir die Pflege von Gartenmobeln

1. Vergewissern Sie sich immer, dass alle Bolzen und Schrauben gesichert und fest angezogen sind,
damit das Gerat nicht belastet wird. Tun Sie dies regelmafRig im Laufe des Jahres.

2. Waschen Sie Metallmoébel in den Wintermonaten mit warmem Seifenwasser ab und verwenden Sie
ein nicht scheuerndes Tuch oder einen Schwamm, bevor Sie sie abspiilen und trocknen.

3. Es wird empfohlen, lhre Gartenmobel in den Wintermonaten abzudecken.

4. Wenn Sie Platz haben, bringen Sie die Gartenmdbel (iber die Wintermonate ins Haus.

5. Versuchen Sie immer, Ihre Gartenmobel auf ebenen Flachen aufzustellen.

6. Sie kdnnen jederzeit Wartungsarbeiten an Ihren Gartenmdébeln durchfiihren.

7. Uberpriifen Sie hre Mébel nach windigen Wetterperioden.

ENTSORGUNG

e Coopers of Stortford verwendet nach Moglichkeit wiederverwertbare oder recycelte Verpackungen.

e Bitte entsorgen Sie alle Verpackungen, Papier, Kartons, Verpackungen in Ubereinstimmung mit lhren @

ortlichen Recyclingvorschriften. %@

e Am Ende der Lebensdauer des Produkts wenden Sie sich bitte fir die Entsorgung an ein von der
Gemeindeverwaltung autorisiertes Hausmiill-Recyclingzentrum.



FRENCH INSTRUCTIONS

Dimensions
100 x54 x80cm

»  BANC DE JARDIN AU DESIGN CLASSIQUE DE ROSES ANGLAISES

+  DESIGN INCURVE IDEAL POUR 2 PERSONNES

+  CHARMANT AJOUT A VOTRE JARDIN PLACE DANS VOTRE ENDROIT PREFERE
DANS VOTRE JARDIN OU VOUS POUVEZ VOUS DETENDRE ET REGARDER LE
MONDE PASSER

*  FABRIQUE A PARTIR D'UN MELANGE DE FONTE ET DE FONTE
D'ALUMINIUM QUI RESISTE AUX INTEMPERIES ET A LA ROUILLE.
CEPENDANT, NOUS VOUS RECOMMANDONS DE TOUJOURS LE COUVRIR EN
CAS DE MAUVAIS TEMPS OU DE GEL AFIN DE LE MAINTENIR EN BON ETAT.

»  LIMITE DE POIDS 120kg

INSTRUCTIONS D'ASSEMBLAGE / INSTRUCTIONS D'UTILISATION :

Déballez soigneusement les composants. Vérifiez que toutes les pieces ont été retirées de I'emballage.

Veuillez lire attentivement les instructions suivantes avant de procéder au montage. Pour éviter de
rayer la peinture, nous vous conseillons d'assembler votre banc de jardin sur un sol souple. Veuillez
noter que les aspérités que vous pouvez trouver sur la surface de votre banc de jardin sont la finition
naturelle du matériau en métal moulé.

Outils nécessaires : Clé hexagonale. (fournie) | |

LISTE DES PIECES

A Plague de siége 1PC H Ecrou M8 8PCS
B Pied de chaise 4PCS | Ecrou M6 P 9PCS
C Dossier 1PC K Capuchon en plastique 2PCS
DL Accoudoir gauche 1PC L @8 Rondelle 8PCS
DR Accoudoir droit 1PC M @6 Rondelle 9PCS
E Boulon M8 X 30 8PCS N @8 Rondelle élastique 8PCS
G Boulon M6 X 35 6PCS P @6 Rondelle élastique 9PCS



Etapes de I'assemblage

NOTE : Laisser les boulons a moitié serrés sur |'établi pendant I'assemblage
jusqu'a ce que l'unité soit assemblée, puis finir de serrer les boulons.

Etape 1 : Visser 8 boulons M8X30 (E) dans la plaque d'assise (A).

Etape 2 : Fixez I'un des pieds de la chaise (B) a la plague d'assise (A) a I'aide
de 2 rondelles 8 (L). 2 rondelles élastiques 8 (N) et 2 écrous M8 (H).
Répétez cette procédure pour assembler le reste des 3 pieds de la chaise

(B).

Etape 3 : Fixez le dossier (C) a la plaque d'assise (A) a I'aide de boulons
3M6X35 (G), de 3 6 rondelles élastiques (P), de 3 6 rondelles (M) et de 3
écrous M6 (1).

Etape 4 : fixer I'accoudoir gauche (DL) a la plaque d'assise (A) avec 2
boulons M6X35 (G), 2 6 rondelles élastiques (P), 2 6 rondelles (M) et un
contre-écrou M6 (I).

Répétez cette procédure pour I'accoudoir droit (DR). Serrez tous les
écrous. Couvrez ensuite les contre-écrous M6 (I) avec des capuchons en
plastique (K).

Empfehlungen fiir die Pflege von Gartenmobeln

1. Veillez toujours a ce que tous les boulons et vis soient bien fixés et serrés afin d'éviter toute
contrainte sur l'article. Faites-le régulierement au cours de I'année.

2. Pendant les mois d'hiver, lavez les meubles en métal avec de I'eau chaude savonneuse et utilisez un

chiffon ou une éponge non abrasifs avant de les rincer et de les sécher.

Il est recommandé de couvrir les meubles de jardin pendant les mois d'hiver.

Si vous avez de la place, rentrez les meubles de jardin a l'intérieur pendant les mois d'hiver.

Essayez toujours de placer vos meubles de jardin sur des surfaces planes.

Vous pouvez effectuer I'entretien de vos meubles de jardin a tout moment.

Vérifiez votre mobilier apres une période de vent.

Noukuw

ELIMINATION

e Coopers of Stortford utilise des emballages recyclables ou recyclés dans la mesure du possible.
e Veuillez vous débarrasser de tous les emballages, papiers, cartons, emballages conformément aux @

réglementations locales en matiere de recyclage. %@

e Alafin de la durée de vie du produit, veuillez vous adresser au centre de recyclage des déchets
ménagers agréé par votre municipalité.



CZECH INSTRUCTIONS

Rozméry
100 x54 x80 cm

«  ZAHRADNI LAVICKA S KLASICKYM ANGLICKYM DESIGNEM RUZ|

«  ZAKRIVENY DESIGN IDEALN{ PRO 2 OSOBY

+  OKOUZLUJICi DOPLNEK VASi ZAHRADY UMISTENY NA
OBLIBENEM MISTE NA ZAHRADE, KDE MUZETE ODPOCIVAT A
POZOROVAT OKOLN{ SVET.

*  VYROBENA ZE SMESI LITINY A LITEHO HLINIKU, KTERA JE
ODOLNA PROTI POVETRNOSTNIM VLIVUM A KOROZI.
DOPORUCUJEME VSAK PRI NEPRIZNIVEM A MRAZIVEM
POCASI VZDY PRIKRYT, ABY SE UDRZEL V DOBREM STAVU.

*  Hmotnostni limit 120 kg

NAVOD K MONTAZI / NAVOD K POUZITI:

Peclivé vybalte soucasti. Zkontrolujte, zda jsou vSechny dily vyjmuty z obalu.

Pfed montazi si pozorné prectéte nasledujici pokyny. Aby nedoslo k poskrabani laku, doporucujeme
sestavit zahradni lavicku na mékkém podkladu. Vezméte prosim na védomi, Ze nerovnosti, které
mUzZete na povrchu zahradni lavice najit, jsou pfirozenou povrchovou Upravou litého kovového
materialu.

Potiebné nastroje: Sestihran. Kli¢ (dodan) | |

SEZNAM DIiL0

A Sedlova deska 1Ks H Matice M8 8Ks
B Noha Zidle 4Ks |  Matice M6 P 9Ks
C Opéradlo 1Ks K Plastova krytka 2Ks
DL Leva podrucka 1Ks L @8 Podlozka 8Ks
DR Prava podrucka 1Ks M @6 Podlozka 9Ks
E Sroub M8 X 30 8Ks N @8 PruZinova podlozka  8Ks
G Sroub M6 X 35 6Ks P ®6 PruZinovd podlozka  9Ks



KROK 1

Doporuceni pro udrzbu zahradniho nabytku

Montazni kroky

POZNAMKA: Béhem montaze nechte $rouby na pracovnim stole
napll utazené, dokud nebude spotrebic sestaven, a poté srouby
dotahnéte.

Krok 1: Do sedlové desky (A) zasroubujte 8 Sroubld M8X30 (E).

Krok 2: Pfipevnéte jednu z nohou Zidle (B) k sedaci desce (A) pomoci
2 podlozek 8 (L). 2 8 pruznymi podlozkami (N) a 2 maticemi M8 (H).
Tento postup zopakujte pfi montazi zbyvajicich 3 nohou Zidle (B).

Krok 3: PFipevnéte opéradlo (C) k sedaci desce (A) pomoci Sroubl
3M6X35 (G), 3 pruznych podlozek (P), 3 podloZek 6 (M) a 3 matic
M6 (1).

Krok 4: Pfipevnéte levou loketni opérku (DL) k desce sedadla (A)
pomoci 2 Sroubl M6X35 (G), 2 pruznych podlozek 6 (P), 2 podloZek
6 (M) a pojistnych matic M6 (I).

Tento postup zopakujte pro pravou loketni opérku (DR). Utahnéte
vSechny matice. Poté zakryjte pojistné matice M6 (I) plastovymi
krytkami (K).

1. Vidy se ujistéte, Ze jsou vSechny Srouby a vruty zajistény a dotazeny, ¢imz se zabrani namahani
polozky. Tuto Cinnost provadéjte pravidelné v pribéhu roku.

2.V zimnich mésicich omyjte kovovy nabytek teplou mydlovou vodou a ptfed oplachnutim a osusenim
pouzijte neabrazivni hadfik nebo houbu.

3. Vzimnich mésicich se doporucuje zahradni nabytek prikryt.

4. Pokud mate prostor, preneste zahradni nabytek pres zimni mésice dovnitf.

5. Vidy se snazte umistit zahradni nabytek na rovny povrch.

6. Udribu zahradniho nabytku mazete provadét kdykoli.

7. Po vétrném pocasi zkontrolujte sv(j nabytek.
DISPOZICE
e Spolecnost Coopers of Stortford pouziva recyklovatelné nebo recyklované obaly, kde je to mozné. @
e Veskeré obaly, papir, kartony a obaly zlikvidujte v souladu s mistnimi pfedpisy pro recyklaci. %@

e Po skonceni Zivotnosti vyrobku se informujte o jeho likvidaci v mistnim recyklaénim stredisku pro
domaci odpad, které ma opravnéni k tomu, aby jej zlikvidovalo.



SLOVAK INSTRUCTIONS

Rozmery
100 x54 x80 cm

+  KLASICKA ZAHRADNA LAVICKA S ANGLICKYM DIZAJINOM RUZ{

«  ZAKRIVENY DIZAJN IDEALNY PRE 2 OSOBY

«  OCARUJUCI DOPLNOK DO VASEJ ZAHRADY UMIESTNENY NA VASOM
OBLUBENOM MIESTE V ZAHRADE, KDE MOZETE RELAXOVAT A
POZOROVAT OKOLITY SVET

*  VYROBENA ZO ZMESI LIATINY A LIATEHO HLINKA, KTORA JE ODOLNA
VOCI POVETERNOSTNYM VPLYVOM A KOROZII. ODPORUCAME VSAK
VZDY PRI NEPRIAZNIVOM A MRAZIVOM POCASI PRIKRYT, ABY STE HO
UDRZALI V DOBROM STAVE.

*  Hmotnostny limit 120 kg

NAVOD NA MONTAZ / NAVOD NA POUZITIE:

Starostlivo vybalte komponenty. Skontrolujte, ¢i su vsetky diely vybraté z obalu.

Pred montaZou si pozorne precitajte nasledujuce pokyny. Aby sa zabranilo poskriabaniu farby,
odporuc¢ame zostavit zahradnu lavicku na makkom podklade. Upozorfiujeme, Ze nerovnosti, ktoré
mézete najst na povrchu vasej zdhradnej lavicky, st prirodzenou povrchovou Upravou liateho
kovového materidlu.

Potrebné nastroje: Sesthran. KIi¢ (dodany) | |

ZOZNAM DIELOV

A Doska sedadla 1Ks H Matica M8 8Ks
B Noha stoli¢ky 4Ks I Matica M6 P 9Ks
C Opierka 1Ks K Plastova krytka 2Ks
DL Lava opierka 1Ks L &8 Podloika 8Ks
DR  Prava opierka 1Ks M @6 Podlozka 9Ks
E Skrutka M8 X 30 8Ks N @8 PruZinova podloZzka  8Ks
G Skrutka M6 X 35 6Ks P @6 PruZinova podloZzka  9Ks



Montazne kroky

POZNAMKA: Pocas montaze nechajte skrutky na pracovnom stole
napoly utiahnuté, kym spotrebic¢ nebude zostaveny, a potom skrutky
dotiahnite.

KROK 1

Krok 1: Do sedacej dosky (A) zaskrutkujte 8 skrutiek M8X30 (E).

Krok 2: Pripevnite jednu z n6h stolicky (B) k doske sedadla (A)
pomocou 2 podloZiek 8 (L). 2 8 pruznymi podlozkami (N) a 2 maticami
M8 (H). Tento postup zopakujte pri montazi zvysnych 3 n6h stolicky
(B).

Krok 3: Pripevnite operadlo (C) k doske sedadla (A) pomocou skrutiek
3M6X35 (G), 3 pruznych podloziek (P), 3 podloZiek 6 (M) a 3 matic M6
(1).

Krok 4: Pripevnite lavl laktovu opierku (DL) k doske sedadla (A)
pomocou 2 skrutiek M6X35 (G), 2 6 pruznych podloziek (P), 2 6
podloziek (M) a matic M6 (l).

Tento postup zopakujte pre pravu laktovi opierku (DR). Utiahnite
vSetky matice. Potom zakryte poistné matice M6 (l) plastovymi
krytkami (K).

Odporucania na udrzbu zahradného nabytku

1. Vidy sa uistite, Ze su vSetky skrutky zaistené a pevne dotiahnuté, ¢im sa zabrani namahaniu polozky.
Robte to pravidelne v priebehu roka.
2. Pocas zimnych mesiacov umyte kovovy nabytok teplou mydlovou vodou a pred oplachnutim a
vysusSenim pouZite neabrazivnu handri¢ku alebo Spongiu.
3. Pocas zimnych mesiacov sa odporuca zahradny nabytok prikryt.
4. Ak mate priestor, preneste zahradny nabytok pocas zimnych mesiacov dovnutra.
5. Vidy sa snazte umiestnit zahradny nabytok na rovny povrch.
6. Udribu zadhradného nabytku méZete vykondvat kedykolvek.
7. Skontrolujte svoj nabytok po veternom pocasi.
DISPOZICIA
e Spoloénost Coopers of Stortford pouziva recyklovatelné alebo recyklované obaly, ak je to mozné. @
e Vsetky obaly, papier, kartony, obaly zlikvidujte v silade s miestnymi predpismi o recyklacii. %‘:‘9

e Po skonceni Zivotnosti vyrobku sa informujte o jeho likvidacii v miestnom recyklacnom centre pre
domovy odpad, ktoré je autorizované miestnou radou.



CUSTOMER SERVICES:

Distributed by / Verteilt durch / Distribué par.

UK: The Enterprise Department Ltd.
11 Bridge Street, Bishops Stortford, Herts, UK, CM23 2JU
Tel: 0330 331 0300

NI/EU:
D.S.B. LD, 160 Bd. de Fourmies, 59100 Roubaix, France
Tel: (+44) 1279 701269

DE/FR/CZ/SK:

3Pagen Versand und Handelsges. mbH
St. Joris Strasse 16-28

52477 Alsdorf

Tel: +49(0)2404/980-204

Donnez ou recyclez

vos meubles.

= - B . 4

Association

Magasin

Déchéterie




